396-4200Y1

Universal Front/Rear of Bar Tank
SurePgint Mount Kit Installation Instructions

Ag Systems

Kit Number: 530-00-100500
Kit Description: Universal Front/Rear of Bar Tank Mount Kit
(Fits 4-7” Tall Toolbar)

> la

=
‘ =

"

396-4200Y1 - Universal Front/Rear Page 1 Revised: 3/20/2024
Bar Tank Mount Instruction Sheet © 2015-2024 SurePoint Ag Systems, Inc.



% SurePoint Ag Systems
s F€Itilizer Tank Safety and Warnings

I —
Ag Systems

-

\
SurePoint Ag Systems does not
recommend transporting your implement
with full fertilizer tanks. Doing so can
result in damage to brackets and

implement.
\_ /
[ R ber t PPE (P /
emember to wear proper ersona
NOTICE Protective Equipment) when installing
PPE SurePoint Ag Systems fertilizer tank kits.
REQUIRED Proper PPE includes gloves, foot and
eye protection, and hearing protection.
\_
4 )

SurePoint Ag Systems fertilizer
application systems require winterization
when not in use. Refer to your product
manual for winterization procedures.

J

4 )

Failure to follow the above warnings can result in
personal injury, damage to your SurePoint Ag
Systems products, and damage to your implement.

- J

396-4200Y1 - Universal Front/Rear Page 2 Revised: 3/20/2024
Bar Tank Mount Instruction Sheet © 2015-2024 SurePoint Ag Systems, Inc.




7 ] Parts List and Exploded View

SurelPoint
Ag Systems ITEM NO. |PART NUMBER |DESCRIPTION QTY.
1 300-100108-5 5/8" x 1-1/2" Hex Head Bolt - G5 4
2 323-10 5/8" Flange Nut - G5 4
3 330-10 5/8" Flat Washer - G5 4
4 420-3171Y1-BK  |Rear Frame Tank Mount 2

396-4200Y1 - Universal Front/Rear Page 3 Revised: 3/20/2024
Bar Tank Mount Instruction Sheet © 2015-2024 SurePoint Ag Systems, Inc.



7] Step by Step Instructions

SurePoint
Ag Systems

1. Using four (4) u-bolt kits provided, attach P/N 400-3171Y1 to front/rear frame as shown.

2. Position tank assembly on the tank brackets and check for clearance with wheels, row units, etc.

3. Fasten tank assembly to tank mounting brackets using four (4) 5/8” x 1-1/2” hex head bolts flat washers
and flange nuts.

396-4200Y1 - Universal Front/Rear Page 4 Revised: 3/20/2024
Bar Tank Mount Instruction Sheet © 2015-2024 SurePoint Ag Systems, Inc.



7'} General Dimensions
SursPoint SurePoint Catalyst™ 585 System

Ag Systems

CATALYST

MICRO VOLUMNE APPLICATION SYSTEMN

[52.92in ]
1344.10mm
\
o
i [32.00in]
812.80mm
@
L |
—= =
o o
B
m [
[9.75in] || & [17.38in] =
247.65mm | & 441.33mm S
[3.75in ]
95.25mm
396-4200Y1 - Universal Front/Rear Page 5 Revised: 3/20/2024

Bar Tank Mount Instruction Sheet © 2015-2024 SurePoint Ag Systems, Inc.



?

General Dimensions

surePoint  SurePoint Catalyst™ 110 System

Ag Systems

CATALYST

MICRO VOLUMNE APPLICATION SYSTEMN

[58.67in]

1490.15mm

396-4200Y1 - Universal Front/Rear
Bar Tank Mount Instruction Sheet

[975n] | &
247.65mm || B
@

I —

Page 6

[17.38in ]
441.33mm

© 2015-2024 SurePoint Ag Systems, Inc.

—_—

[3.75in]
95.25mm

Revised: 3/20/2024



?

SurePoint
Ag Systems

STHE =

ACCELERATOR

General Dimensions

YSTEMS

W SurePoint Accelerator Tanks

[46F]
1120

: 55 Gallon Tank

0
0
oo
0
0

(7.9]
200
ALL BOLT SLOTS

[18.5] 17
470 (5/8" BOLTS)

BLACE POLY
RIMSE WATER
TANE

53 GALLOM
WHITE POLY TANE

3/16" STEEL BASE WITH
BLACK POWDERCOAT

[4%.8]
< 1264 _|
_ WHITE POLY
[46.9in] | ][';,'ﬂ”,l
1878mm (578" BOLTS)
= = = = = =

- ® ] - N
[75in] =
200
| [43.1in]
[l 10%&mim
|
1
| L i a 1
[72.6in] _ ___| |__ [E EI“]
1845mm S5mim

3f14" STEEL BASE WITH
BLACK FOWDERCOAT

- BLACK POLY
RIMSE WATER
TANE

110 and 155
Gallon Tank

155 shown - 110 Gallon
only differs in total height.
110 Total Height is 34.9 in.

396-4200Y1 - Universal Front/Rear
Bar Tank Mount Instruction Sheet

Page 7

© 2015-2024 SurePoint Ag Systems, Inc.

Revised: 3/20/2024





